
Tick 1 option.    

1. Lady Croft is from a 
family of  

a  businesspeople. 

b  landowners. 

c  politicians. 

d  scientists. 

    

2. The inspector calls 
himself  

a  Gaol.  

b  Ghoul. 

c  Goal.  

d  Goole.  

    

Tick one option.    

 true false 

3. Mr Birling has been Lord Mayor before.    

    

4. Eva Smith has 
committed suicide 
by  

a  drinking poison.  

b  injecting an overdose. 

c  inhaling heating gas. 

d  jumping from the fifth floor.  

    

5. Eva Smith used to 
work for  

a  Gerald’s father. 

b  Lady Croft.  

c  Mrs Birling. 

d  Sheila’s father.  

    



Tick two options.    

6. The Inspector 
knows about Eva 
from  

a  a photo of hers. 

b  a dress she stole. 

c  her many books. 

d  socialist pamphlets. 

e  what she wrote. 

    

    

Tick one option.    

7. When the inspector 
calls, the family are 
have come together 
about  

a  a funeral.  

b  a wedding.  

c  an election victory.  

d  an engagement.  

    

Tick one option.    

 true false 

8. The inspector plays golf.    

    

Tick one option.    

9. For some time, Eva 
Smith worked  

a  as a teacher. 

b  at a railway station. 

c  at a shop. 

d  at an office.  

    



Tick one option.    

 true false 

10. Mrs Birling is a member of a Charity.    

    

Tick one option.    

 true false 

11. Mrs Birling believes the girl has only herself to 
blame.  

  

    

12. One of these men 
has forced Eva to let 
him have his way 
with her  

a  Colonel Roberts. 

b  Eric. 

c  Gerald. 

d  Sir George. 

    

13. One of these 
characters has 
stolen money.  

a  Edna.  

b  Eric. 

c  Eva. 

d  Sheila. 

    

 true false 

14. At the end, Sheila takes back Gerald’s ring.    

    

 true false 

15. That night, an inspector only calls once.    

    



Your name: ____________________________________________ 

correct: _________/ 15 

What you remember from JB Priestley’s  
“An Inspector Calls” 

Do not use your copy of the text while doing these tasks.  

 
Reading Comprehension Test 

o Find out how well you know what you have read.  

o Tick the options that come closest to what you think is correct.  

o Only tick the number of answers indicated in each task.  

o Try out with a pencil first. Then mark clearly in ink before handing in.  

 

EXAMPLES    

Tick one option.    

a) Mr Birling is 

a  a businessman. 

b  a former prime minister. 

c  a retired general. 

d  an old widower. 

[p. 10, ll. 5-8]  He owns and runs a company  

Tick one option.    

 true false 

b) Gerald gives Sheila a ring.    

[p. 11, ll. 18 ff]   He gives her a ring for their engagement 

 


